
HANDLE
PACK

1

A60

2

G32

B22

A61

3

C35

B88

H60

H31

G69G7

B16

G27

C26 C24 C22

C33

A17

H77

Z2

C21

Rev. Description Date Cad/Eng

Item# Qty Description MATERIAL
1 1 TOP ASSEMBLY WOOD
2 2 DRAWER ASSEMBLY WOOD/METAL
3 1 BOTTOM MOULDING ASSEMBY WOOD

A17 2 (A17) PLASTIC 6" WIRE CABLE TIE PLASTIC
A60 2 (A60) LF CAB MEMBER 300MM BLK METAL/PLASTIC
A61 2 (A61) RT CAB MEMBER 300MM BLK METAL/PLASTIC
B16 1 (B16) 1/4-20 X 1 3/4 CAR BOLT METAL
B22 4 (B22) FELT PAD FIBER
B88 1 (B88) WOOD CENTER SUPPORT FOOT WOOD/METAL
C21 1 (C21) LED POWER SOURCE PLASTIC/METAL
C22 1 (C22) LED TOUCH JUNCTION BOX PLASTIC/METAL
C24 1 (C24) LED TOUCH CABLE LEAD 350 PLASTIC/METAL
C26 1 (C26) LED LIGHT STRIP 1700 PLASTIC/METAL
C33 8 (C33) RGB LED PLASTIC CLIP PLASTIC
C35 4 (C35) 33MM DWR GLIDE SPACER PLASTIC/METAL
G27 1 (G27) 1/4-20 WING NUT W/WASHER METAL
G32 2 (G32) METAL HANDLE METAL
G69 2 (G69) 1/4-20X20MM JOINT CONNECTOR METAL
G7 2 (G7) 1/4-20X13MM END JOINT CONNECTOR METAL
H31 4 (H31) 8-32 X 3/4 TH SCREW METAL
H60 8 (H60) 10MM EURO SCREW METAL
H77 4 (H77) 8 X 5/8 PH SCREW METAL
Z2 1 (Z2) HANDLE PACK METAL

Dwg#:

Date:

Desc:

TOLERANCES ARE:
     METRIC------------- +.5 / -.5mm

     DECIMAL---------------- 0 / -.005"
     FRACTIONAL----------- +0/ -1/32"

(UNLESS OTHERWISE SPECIFIED)

Furniture Industries Inc.


Scale: 1:20

TV Stand CS

11/6/2023

35921


	Sheet1
	Drawing View1


